MATH 1330 Review for Test #3

When: April 1%t — April 4th frideaw — Me e -
Where: CASA Testing Center (222 Garrison Gym)
Time: 50 minutes
Number of questions: 17 .
14 Multiple Choice Questions (total of 70 points) — Eﬁ\d“* 5 pot s

3 Free Response Questions (total of 30 points) — ea (J_\ 0 po ‘s

What is covered: All sections covered since Test 2 (4.1 -4.3,5.1 - 5.4)
Do not forget to reserve a seat for Test #3.

Do not be late for your test. Plan to be at the testing center 10-15 minutes before your
scheduled time. If you miss your reserved seat, log in to your CASA account and try to
reschedule; you can do this if there are any available seats.

Remember the make-up policy: NO MAKE-UPS! If you miss your test, you will get a
zero. When you take the final, it will replace ONE missed test.

TakelPractice Test — 3! !10% of your best score will be added to your test grade.
Malee 100,

For the free response part, please show your work neatly. Do not skip steps.

When you take the test, you will see a score in your CASA grade sheet right away. That
score is for the multiple choice part only. So, it is out of 70 points. The grade for the Free
Response Part will be posted later, after the papers are graded.
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EXAM-LIKE PRACTICE PROBLEMS

Question #1.

Find sin(9) and cos(d). .
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Question #2.

A motorcycle has wheels with a 12 inch radius. If each wheel’s rate of turn is 4 revolutions per
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second. how fast is the car moving in units of inches/sec?
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Question #3.
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Question #5

Find three angles, two positive and one negative, that are coterminal with the given angle
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Evaluate the followings. A completed unit circle might be useful.
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Questions #6, #7, #8, #9 --- EVALUATIONS
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Question #10

Find the exact value of the following expression:

Question #11

Find the exact value of the following expression:

i) o

5'16'(:;):,9 4——»35{,«{9:}5_'

osini(-3]- 0 in (N yoo( 1) = 8 'n OT .
5""9"";? =/ ‘9:—%— wsp = 5 B= %—'_
c) arcsin[gj-"- B QT d) arCCO{—J—ZZJ:@ " QT
5i"9"-\% =>8=T-;E Cosez-% = 9-—9_}?
o acan(v3)= B in B @)arctan(—l) -0 L Qv
ln8=B =0=% R N
b4

g Co{tan_l@J: 50 S T
L~— 5)1 xc‘{q_\\ L =5 +47= ]
’ + B = N
DJ‘--I (%)‘-_8 <=b %Me -5
K > [caso - - ATE
L 4|




Question #12

. - C
Find the phase shift (horizontal shift) of the following functions. (P\naf'l:. -g\" ! ‘F{’ - E’
1 -
a) f(t)=12cos(gt+%) = pA=12 , B-= —‘g, . Ce - IE_
-0 .
W\qggt.. ;LOVP.I' = E.. - /‘l = |- g_I_r L-2. W 40 'an_, D_ZJ_{—'
B Vs 4 T

b) f(t)=125in(6t—%j 2 A=, -G, C= Vs

\f\,&S(’_, L’t'l'--é.-:,‘ﬂ./g_'\’ ! T © 1
? § F i) ——G-""'—-' —'5'0 I .f. 3-;) ‘l' “Hac,r'y'd'

= ;=10 B=5, C:‘"yw

¢) f(x)= 10tan(5x - %J

?\&5& 5\“"‘(’* =S . VT g, T the viﬁﬂ‘
v 5 100 loo

Question #13

Write a sine function with amplitude 10, horizontal shift 5 to the left, vertical shift 2 down, and

period 5. T’e'rfoo‘ =5
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Question #14

The voltage V produced by an alternating current generator is

V(t)=284sin(40zt).  _ p e 284
What are the amplitude and period of V(t)? A B B = \4O T
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Question #15 — Free Response #1
In the right triangle ABC with right angle C, AB=10 and AC =9.

Find the six trigonometric functions of angle A.
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Question #16 — Free Response #2

Find an equation for the sine function passing through (0,0) given that the first maximum point on

the right of the origin is [%5)
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Question #17 — Free Response #3

Given f (x) =5sin(6x):
i i i ion?
What is the domain of this function® (-. o, 00O )

What is the range of this function? [__.. 5 | 5]

Graph the function over one period.
Label the intercepts, minimum/ maximum value(s) with an ordered pair.
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Exercise: f(x)=6cos(2x)
What is the domain of this function? (—— xR | 99)

What is the range of this function? [._ G, Cj

Graph the function over one period.
Label the intercepts, minimum/ maximum value(s) with an ordered pair.
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